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ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

funsZ’k%& ¼1½funsZ’k%& ¼1½funsZ’k%& ¼1½funsZ’k%& ¼1½ lHkh iz'u vfuok;Z gSAlHkh iz'u vfuok;Z gSAlHkh iz'u vfuok;Z gSAlHkh iz'u vfuok;Z gSA

All questions are compulsory.

¼2½¼2½¼2½¼2½ vko';drkuqlkj ukekafdr js[kkfp= cukb,Avko';drkuqlkj ukekafdr js[kkfp= cukb,Avko';drkuqlkj ukekafdr js[kkfp= cukb,Avko';drkuqlkj ukekafdr js[kkfp= cukb,A

Draw labelled diagram wher eves is necessary.

¼3½¼3½¼3½¼3½ iz’u Øekad 1 ls 6 rd ds iz'uksa ij 2 vad gSAiz’u Øekad 1 ls 6 rd ds iz'uksa ij 2 vad gSAiz’u Øekad 1 ls 6 rd ds iz'uksa ij 2 vad gSAiz’u Øekad 1 ls 6 rd ds iz'uksa ij 2 vad gSA

Question from 1 to 6 carry 2 marks each.

¼4½¼4½¼4½¼4½ iz’u Øekad 7 ls 12 rd ds iz'uksa ij 3 vad gSAiz’u Øekad 7 ls 12 rd ds iz'uksa ij 3 vad gSAiz’u Øekad 7 ls 12 rd ds iz'uksa ij 3 vad gSAiz’u Øekad 7 ls 12 rd ds iz'uksa ij 3 vad gSA

Question from 7 to 12 carry 3 marks each.

¼5½¼5½¼5½¼5½ iz’u Øekad 13 ls 17 rd ds iz'uksa ij 4 vad gSAiz’u Øekad 13 ls 17 rd ds iz'uksa ij 4 vad gSAiz’u Øekad 13 ls 17 rd ds iz'uksa ij 4 vad gSAiz’u Øekad 13 ls 17 rd ds iz'uksa ij 4 vad gSA

Question from 13 to 17 carry 4 marks each.

¼6½¼6½¼6½¼6½ iz’u Øekad 18 ls 22 rd ds iz'uksa ij 5 vad gSAiz’u Øekad 18 ls 22 rd ds iz'uksa ij 5 vad gSAiz’u Øekad 18 ls 22 rd ds iz'uksa ij 5 vad gSAiz’u Øekad 18 ls 22 rd ds iz'uksa ij 5 vad gSA

Question from 18 to 22 carry 5 marks each.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& izdk'k ds foorZu dh 'krZ fyf[k,A n`'; izdk'k ls foorZu gsrq vojks/k dkizdk'k ds foorZu dh 'krZ fyf[k,A n`'; izdk'k ls foorZu gsrq vojks/k dkizdk'k ds foorZu dh 'krZ fyf[k,A n`'; izdk'k ls foorZu gsrq vojks/k dkizdk'k ds foorZu dh 'krZ fyf[k,A n`'; izdk'k ls foorZu gsrq vojks/k dk

vkdkj crkb,Avkdkj crkb,Avkdkj crkb,Avkdkj crkb,A [1+1]

Write the condition for diffraction of light. What is the size of obstacle in

the case of diffraction of visible light.

iz’u 2&iz’u 2&iz’u 2&iz’u 2& i`Foh dh f=T;k 6400 fdeh gS mldh /kkfjrk Kkr dhft,Ai`Foh dh f=T;k 6400 fdeh gS mldh /kkfjrk Kkr dhft,Ai`Foh dh f=T;k 6400 fdeh gS mldh /kkfjrk Kkr dhft,Ai`Foh dh f=T;k 6400 fdeh gS mldh /kkfjrk Kkr dhft,A

Radius of earth is 6400 km . Find its capacity.

iz’u 3&iz’u 3&iz’u 3&iz’u 3& ?kj esa nks cYc 40?kj esa nks cYc 40?kj esa nks cYc 40?kj esa nks cYc 40W o 60 o 60 o 60 o 60W dks vkil esa ¼1½ Js.kh Øe ¼2½ lekukarj Øe dks vkil esa ¼1½ Js.kh Øe ¼2½ lekukarj Øe dks vkil esa ¼1½ Js.kh Øe ¼2½ lekukarj Øe dks vkil esa ¼1½ Js.kh Øe ¼2½ lekukarj Øe
esa tksM+s rks dkSu lk cYc igys ¶;wt gksxk \esa tksM+s rks dkSu lk cYc igys ¶;wt gksxk \esa tksM+s rks dkSu lk cYc igys ¶;wt gksxk \esa tksM+s rks dkSu lk cYc igys ¶;wt gksxk \

When two bulf of 40W and 60W are connected (1) inseries (2) in paralled

which bulb will fuse earlier ? [1+1]
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iz’u 4&iz’u 4&iz’u 4&iz’u 4& Loizsj.k o vU;ksU; izsj.k esa nks varj fyf[k,ALoizsj.k o vU;ksU; izsj.k esa nks varj fyf[k,ALoizsj.k o vU;ksU; izsj.k esa nks varj fyf[k,ALoizsj.k o vU;ksU; izsj.k esa nks varj fyf[k,A

Write two differencess  between self induction and mutual induction .

iz’u 5&iz’u 5&iz’u 5&iz’u 5& NPN VªkaftLVj o VªkaftLVj o VªkaftLVj o VªkaftLVj o PNP VªkaftLVj esa dkSu vPNk gS o D;ksa \ VªkaftLVj esa dkSu vPNk gS o D;ksa \ VªkaftLVj esa dkSu vPNk gS o D;ksa \ VªkaftLVj esa dkSu vPNk gS o D;ksa \         [½+1½]

Which transister is better NPN or PNP and why ?

iz’u 6&iz’u 6&iz’u 6&iz’u 6& dscy D;k gS \ mlds izdkj fyf[k,Adscy D;k gS \ mlds izdkj fyf[k,Adscy D;k gS \ mlds izdkj fyf[k,Adscy D;k gS \ mlds izdkj fyf[k,A

What is cable ? Write its kinds.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& fMftVy flXuy D;k gS \ mlds pkj izeq[k xq.k fy[kdj nks mnkgj.kfMftVy flXuy D;k gS \ mlds pkj izeq[k xq.k fy[kdj nks mnkgj.kfMftVy flXuy D;k gS \ mlds pkj izeq[k xq.k fy[kdj nks mnkgj.kfMftVy flXuy D;k gS \ mlds pkj izeq[k xq.k fy[kdj nks mnkgj.k

nhft,Anhft,Anhft,Anhft,A [½+2½]

What is digital signal ? Write four main characteristic and two examples

of it.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& NAND gate ls ls ls ls OR gate cukdj mldh lR;rk lkj.kh nhft,Acukdj mldh lR;rk lkj.kh nhft,Acukdj mldh lR;rk lkj.kh nhft,Acukdj mldh lR;rk lkj.kh nhft,A

How do you build OR gate with the help of NAND gate give its truth table.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& VªkaftLVj dk nksfy= dh rjg mi;ksx ifjiFk cukdj mldh dk;Z fof/kVªkaftLVj dk nksfy= dh rjg mi;ksx ifjiFk cukdj mldh dk;Z fof/kVªkaftLVj dk nksfy= dh rjg mi;ksx ifjiFk cukdj mldh dk;Z fof/kVªkaftLVj dk nksfy= dh rjg mi;ksx ifjiFk cukdj mldh dk;Z fof/k
fyf[k,Afyf[k,Afyf[k,Afyf[k,A

Write working of transister as an oscillator with the circuit diagram.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& QSjkMs ds fo|qr vi?kVu ds fu;e }kjk fo|qr jklk;fud rqY;k ad oQSjkMs ds fo|qr vi?kVu ds fu;e }kjk fo|qr jklk;fud rqY;k ad oQSjkMs ds fo|qr vi?kVu ds fu;e }kjk fo|qr jklk;fud rqY;k ad oQSjkMs ds fo|qr vi?kVu ds fu;e }kjk fo|qr jklk;fud rqY;k ad o

jklk;fud rqY;kad esa laca/k LFkkfir dhft,Ajklk;fud rqY;kad esa laca/k LFkkfir dhft,Ajklk;fud rqY;kad esa laca/k LFkkfir dhft,Ajklk;fud rqY;kad esa laca/k LFkkfir dhft,A [1+2]

Deduce relation between electrochemical equivalent and chemical

equivalent by the Faraday's law of electrolysis.

vFkok vFkok vFkok vFkok (OR)

flYoj oksYVkehVj dk ukekafdr js[kkfp= [khapdj mldh fØ;kfof/k le>kb,AflYoj oksYVkehVj dk ukekafdr js[kkfp= [khapdj mldh fØ;kfof/k le>kb,AflYoj oksYVkehVj dk ukekafdr js[kkfp= [khapdj mldh fØ;kfof/k le>kb,AflYoj oksYVkehVj dk ukekafdr js[kkfp= [khapdj mldh fØ;kfof/k le>kb,A

Explain working of silver volta metre with labelled diagram. [1½+1½]

iz’u 11&iz’u 11&iz’u 11&iz’u 11& izR;korhZ oksYVst dk lehdj.k izR;korhZ oksYVst dk lehdj.k izR;korhZ oksYVst dk lehdj.k izR;korhZ oksYVst dk lehdj.k V 220=     Sin100 tπ gSA oksYVst dk vk;ke]gSA oksYVst dk vk;ke]gSA oksYVst dk vk;ke]gSA oksYVst dk vk;ke]

oxZek/; ewy eku o vko`fRr Kkr dhft,AoxZek/; ewy eku o vko`fRr Kkr dhft,AoxZek/; ewy eku o vko`fRr Kkr dhft,AoxZek/; ewy eku o vko`fRr Kkr dhft,A
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Equation of Alternating voltage is given by V 220= Sin100 tπ . Find its

amplitude, root mean square voltage and frequency.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& izfrpqacdh;] vuqpaqcdh; vkSj ykSg pqacdh; inkFkksZ a esa 3 varj fyf[k,Aizfrpqacdh;] vuqpaqcdh; vkSj ykSg pqacdh; inkFkksZ a esa 3 varj fyf[k,Aizfrpqacdh;] vuqpaqcdh; vkSj ykSg pqacdh; inkFkksZ a esa 3 varj fyf[k,Aizfrpqacdh;] vuqpaqcdh; vkSj ykSg pqacdh; inkFkksZ a esa 3 varj fyf[k,A

Write 3 differences between ferro magnetic, dia magnetic and para mag-

netic substances.

vFkok vFkok vFkok vFkok (OR)

Li'kZT;k fu;e ij dke djus okys nks midj.kksa ds uke fy[kdj Li'kZT;kLi'kZT;k fu;e ij dke djus okys nks midj.kksa ds uke fy[kdj Li'kZT;kLi'kZT;k fu;e ij dke djus okys nks midj.kksa ds uke fy[kdj Li'kZT;kLi'kZT;k fu;e ij dke djus okys nks midj.kksa ds uke fy[kdj Li'kZT;k

fu;e o mldh 'krsZ fyf[k,Afu;e o mldh 'krsZ fyf[k,Afu;e o mldh 'krsZ fyf[k,Afu;e o mldh 'krsZ fyf[k,A [1+1+1]

Name the two apparatus which work on the principle of tangent law. Write

tangent law with its condition.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& izkFkfed bUnz/kuq"k o f}rh;d bUnz/kuq"k dk cuuk fp= }kjk le>kdj nksizkFkfed bUnz/kuq"k o f}rh;d bUnz/kuq"k dk cuuk fp= }kjk le>kdj nksizkFkfed bUnz/kuq"k o f}rh;d bUnz/kuq"k dk cuuk fp= }kjk le>kdj nksizkFkfed bUnz/kuq"k o f}rh;d bUnz/kuq"k dk cuuk fp= }kjk le>kdj nks
varj fyf[k,Avarj fyf[k,Avarj fyf[k,Avarj fyf[k,A

Explain the primary rainbow and secondary rainbow by diagram write

two difference between them.

iz’u 14&iz’u 14&iz’u 14&iz’u 14& izdk'k ds /kz qo.k ls vki D;k le>rs gSaa \ fl) dhft, dh ijkorZu }kjkizdk'k ds /kz qo.k ls vki D;k le>rs gSaa \ fl) dhft, dh ijkorZu }kjkizdk'k ds /kz qo.k ls vki D;k le>rs gSaa \ fl) dhft, dh ijkorZu }kjkizdk'k ds /kz qo.k ls vki D;k le>rs gSaa \ fl) dhft, dh ijkorZu }kjk
/kzqo.k esa ijkofrZr o viofrZr fdj.ksa ijLij yacor gksrh gSA/kzqo.k esa ijkofrZr o viofrZr fdj.ksa ijLij yacor gksrh gSA/kzqo.k esa ijkofrZr o viofrZr fdj.ksa ijLij yacor gksrh gSA/kzqo.k esa ijkofrZr o viofrZr fdj.ksa ijLij yacor gksrh gSA

What do you mean by polarisation of light ? Prove that in polarisation by

reflection reflected and refracted rays are mutually perpendicular.

vFkok vFkok vFkok vFkok (OR)

izdk'k dk O;frdj.k D;k gS \ O;frdj.k ds izdkj fy[kdj mUgsa izkIr djusizdk'k dk O;frdj.k D;k gS \ O;frdj.k ds izdkj fy[kdj mUgsa izkIr djusizdk'k dk O;frdj.k D;k gS \ O;frdj.k ds izdkj fy[kdj mUgsa izkIr djusizdk'k dk O;frdj.k D;k gS \ O;frdj.k ds izdkj fy[kdj mUgsa izkIr djus

dh 'krsZ fyf[k,Adh 'krsZ fyf[k,Adh 'krsZ fyf[k,Adh 'krsZ fyf[k,A        [1+1+2]

What is interference of light ? Write its kinds with their conditions of

obtaining.

iz’u15&iz’u15&iz’u15&iz’u15& nks izfrjks/kksa dh Js.khØe esa tksM+us ij izfrjks/k 9 vkse rFkk lekUrj Øe esanks izfrjks/kksa dh Js.khØe esa tksM+us ij izfrjks/k 9 vkse rFkk lekUrj Øe esanks izfrjks/kksa dh Js.khØe esa tksM+us ij izfrjks/k 9 vkse rFkk lekUrj Øe esanks izfrjks/kksa dh Js.khØe esa tksM+us ij izfrjks/k 9 vkse rFkk lekUrj Øe esa
tksM+us ij izfrjks/k 2 vkse izkIr gksrk gSA izR;sd izfrjks/k dk eku D;k gksxk\tksM+us ij izfrjks/k 2 vkse izkIr gksrk gSA izR;sd izfrjks/k dk eku D;k gksxk\tksM+us ij izfrjks/k 2 vkse izkIr gksrk gSA izR;sd izfrjks/k dk eku D;k gksxk\tksM+us ij izfrjks/k 2 vkse izkIr gksrk gSA izR;sd izfrjks/k dk eku D;k gksxk\

Two resistance give 9 Ohm when they are connected in series and 2 Ohm
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in parallel. What will be the value of each resistance ?

vFkok vFkok vFkok vFkok (OR)

A o o o o B ds chp foHkokarj Kkr dhft,Ads chp foHkokarj Kkr dhft,Ads chp foHkokarj Kkr dhft,Ads chp foHkokarj Kkr dhft,A

Find potential difference between A & B

iz’u16&iz’u16&iz’u16&iz’u16& fl) dhft;s ds ,d bysDVªku dks fl) dhft;s ds ,d bysDVªku dks fl) dhft;s ds ,d bysDVªku dks fl) dhft;s ds ,d bysDVªku dks V foHkokUrj }kjk Rofjr djus ij MhfoHkokUrj }kjk Rofjr djus ij MhfoHkokUrj }kjk Rofjr djus ij MhfoHkokUrj }kjk Rofjr djus ij Mh

czkXyh rjaxnS/;Z czkXyh rjaxnS/;Z czkXyh rjaxnS/;Z czkXyh rjaxnS/;Z 
12.27

Å
V

 = λ }kjk fn;k tkrk gSA}kjk fn;k tkrk gSA}kjk fn;k tkrk gSA}kjk fn;k tkrk gSA

Show that the de Broglie wavelength λ  for an electron accelerated

through a potential of V volt is given by 
12.27

Å
V

 = λ  .

iz’u 17&iz’u 17&iz’u 17&iz’u 17& izsf"kr ,aVhuk ls vfHkxzkgh ,aVhuk rd jsfM;ks rjaxksa ds lapj.k djus dhizsf"kr ,aVhuk ls vfHkxzkgh ,aVhuk rd jsfM;ks rjaxksa ds lapj.k djus dhizsf"kr ,aVhuk ls vfHkxzkgh ,aVhuk rd jsfM;ks rjaxksa ds lapj.k djus dhizsf"kr ,aVhuk ls vfHkxzkgh ,aVhuk rd jsfM;ks rjaxksa ds lapj.k djus dh
dkSu&dkSu lh fof/k;k¡ gSA vko`fRr ,oa lapj.k nwjh crkrs gq;s fdlh ,ddkSu&dkSu lh fof/k;k¡ gSA vko`fRr ,oa lapj.k nwjh crkrs gq;s fdlh ,ddkSu&dkSu lh fof/k;k¡ gSA vko`fRr ,oa lapj.k nwjh crkrs gq;s fdlh ,ddkSu&dkSu lh fof/k;k¡ gSA vko`fRr ,oa lapj.k nwjh crkrs gq;s fdlh ,d
fof/k dks la{ksi esa le>kb;sAfof/k dks la{ksi esa le>kb;sAfof/k dks la{ksi esa le>kb;sAfof/k dks la{ksi esa le>kb;sA

What are the methods of propagation of Radio wave from transmitting

antena to receiving anteena. Explain any one method in brief with its

frequency and propagation distance.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& ,d ,d ,d ,d C /kkfjrk ds la/kkfjr o /kkfjrk ds la/kkfjr o /kkfjrk ds la/kkfjr o /kkfjrk ds la/kkfjr o R izfrjks/k ds pkyd dks Js.kh Øe esa izR;korhZizfrjks/k ds pkyd dks Js.kh Øe esa izR;korhZizfrjks/k ds pkyd dks Js.kh Øe esa izR;korhZizfrjks/k ds pkyd dks Js.kh Øe esa izR;korhZ

foHko L=ksr foHko L=ksr foHko L=ksr foHko L=ksr E = Eo sinωωωωt ls tksM+k x;k rks fuEufyf[kr dh x.kuk dhft, ls tksM+k x;k rks fuEufyf[kr dh x.kuk dhft, ls tksM+k x;k rks fuEufyf[kr dh x.kuk dhft, ls tksM+k x;k rks fuEufyf[kr dh x.kuk dhft,

¼1½ ifj.kkeh foHkokarj¼1½ ifj.kkeh foHkokarj¼1½ ifj.kkeh foHkokarj¼1½ ifj.kkeh foHkokarj ¼2½ /kkjk ¼2½ /kkjk ¼2½ /kkjk ¼2½ /kkjk o o o o foHkokarj ds foHkokarj ds foHkokarj ds foHkokarj ds chp chp chp chp dykUrjdykUrjdykUrjdykUrj

¼3½ izfrck/kk¼3½ izfrck/kk¼3½ izfrck/kk¼3½ izfrck/kk ¼4½ vkSlr O;; 'kfDr         ¼4½ vkSlr O;; 'kfDr         ¼4½ vkSlr O;; 'kfDr         ¼4½ vkSlr O;; 'kfDr         [1+1+1+1+1]

A capacitor of capacitance C and resistance R are connected in series to aa aa
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source of alternating voltage E = Eo sinωωωωt. Deduce the following-

(1) Resultant Voltage (2)Phase differance between voltage and Current

(3)Impedence      (4) Average Power Cunsumption

iz’u 19&iz’u 19&iz’u 19&iz’u 19& xkl dh xkl dh xkl dh xkl dh tan A fLFkfr }kjk nks pqacdksa ds pqacdh; fLFkfr }kjk nks pqacdksa ds pqacdh; fLFkfr }kjk nks pqacdksa ds pqacdh; fLFkfr }kjk nks pqacdksa ds pqacdh; vkÄw.k¨±vkÄw.k¨±vkÄw.k¨±vkÄw.k¨± dh rqyuk fo{ksidh rqyuk fo{ksidh rqyuk fo{ksidh rqyuk fo{ksi

pqacdRokekih ls djrs le; mlesa dkSu&dkSu lh =qfV;k¡ gksrh gS mUgsa vkipqacdRokekih ls djrs le; mlesa dkSu&dkSu lh =qfV;k¡ gksrh gS mUgsa vkipqacdRokekih ls djrs le; mlesa dkSu&dkSu lh =qfV;k¡ gksrh gS mUgsa vkipqacdRokekih ls djrs le; mlesa dkSu&dkSu lh =qfV;k¡ gksrh gS mUgsa vki

dSls nwj djrs gSa \dSls nwj djrs gSa \dSls nwj djrs gSa \dSls nwj djrs gSa \

When we compare magnetic moment of two bar magnet in tan A diflection

method with the help of deflection magnetometre what are the possible

errors in magnetometre and how do you over come them.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& nks lekukarj vuar lery pknjsa ftu ij foijhr vkos'k gS ds e/; fo|qrnks lekukarj vuar lery pknjsa ftu ij foijhr vkos'k gS ds e/; fo|qrnks lekukarj vuar lery pknjsa ftu ij foijhr vkos'k gS ds e/; fo|qrnks lekukarj vuar lery pknjsa ftu ij foijhr vkos'k gS ds e/; fo|qr

{ks= dh rhozrk xkml izes; ls Kkr dhft,A{ks= dh rhozrk xkml izes; ls Kkr dhft,A{ks= dh rhozrk xkml izes; ls Kkr dhft,A{ks= dh rhozrk xkml izes; ls Kkr dhft,A

Find electric field intensity between two infinite parallel sheets of

opposite charges by Gauss theorem.

vFkok vFkok vFkok vFkok (OR)

lekukarj IysV la/kkfjr dh IysVksa ds chp dh nwjh lekukarj IysV la/kkfjr dh IysVksa ds chp dh nwjh lekukarj IysV la/kkfjr dh IysVksa ds chp dh nwjh lekukarj IysV la/kkfjr dh IysVksa ds chp dh nwjh x gS muds e/; gS muds e/; gS muds e/; gS muds e/; d eksVkbZeksVkbZeksVkbZeksVkbZ

dk dk dk dk k ijkoS|qrkad okyk ijkoS|qr inkFk Z j[kk gSA mldh /kkfjrk Kkr ijkoS|qrkad okyk ijkoS|qr inkFk Z j[kk gSA mldh /kkfjrk Kkr ijkoS|qrkad okyk ijkoS|qr inkFk Z j[kk gSA mldh /kkfjrk Kkr ijkoS|qrkad okyk ijkoS|qr inkFk Z j[kk gSA mldh /kkfjrk Kkr

dhft,Adhft,Adhft,Adhft,A

The distance between two plates, of parallel plate condensor is x and a

dielectric substance of thickness d and dielectric constant k is kept be-

tween them. Find the capacity of condensor.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& lkbDy®Vªku dh O;k[;k fuEu fcaanqv®aa esa dhft;¢&lkbDy®Vªku dh O;k[;k fuEu fcaanqv®aa esa dhft;¢&lkbDy®Vªku dh O;k[;k fuEu fcaanqv®aa esa dhft;¢&lkbDy®Vªku dh O;k[;k fuEu fcaanqv®aa esa dhft;¢&

(i) jpukjpukjpukjpuk , (ii) fl)kUr ,oa dk;Z fof/kfl)kUr ,oa dk;Z fof/kfl)kUr ,oa dk;Z fof/kfl)kUr ,oa dk;Z fof/k

Describe the cyclotron  under the following points :

(i) Construction , (ii) Principle and working process.
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iz’u 22&iz’u 22&iz’u 22&iz’u 22& ysalksa dh vo.kZdrk ls vki D;k le>rs gSa fl) dhft,Aysalksa dh vo.kZdrk ls vki D;k le>rs gSa fl) dhft,Aysalksa dh vo.kZdrk ls vki D;k le>rs gSa fl) dhft,Aysalksa dh vo.kZdrk ls vki D;k le>rs gSa fl) dhft,A
w

w

f

f' '
=  tgk¡  tgk¡  tgk¡  tgk¡ ω  o.kZ fo{ksi.k {kerk o o.kZ fo{ksi.k {kerk o o.kZ fo{ksi.k {kerk o o.kZ fo{ksi.k {kerk o f  Qksdl nwjh gSA Qksdl nwjh gSA Qksdl nwjh gSA Qksdl nwjh gSA

What do you mean by achromation of lens. Prove that

w

w

f

f' '
=     where ω  is dispersive power & f is focal length.

vFkok vFkok vFkok vFkok (OR)

ikfFkZo nwjn'khZ dk o.kZu fuEu fcUnqvksa ij dhft,AikfFkZo nwjn'khZ dk o.kZu fuEu fcUnqvksa ij dhft,AikfFkZo nwjn'khZ dk o.kZu fuEu fcUnqvksa ij dhft,AikfFkZo nwjn'khZ dk o.kZu fuEu fcUnqvksa ij dhft,A [2+2+1]

¼1½ izfrfcac dh jpuk dk ukekafdr js[kkfp=¼1½ izfrfcac dh jpuk dk ukekafdr js[kkfp=¼1½ izfrfcac dh jpuk dk ukekafdr js[kkfp=¼1½ izfrfcac dh jpuk dk ukekafdr js[kkfp=

¼2½ vko/kZu {kerk¼2½ vko/kZu {kerk¼2½ vko/kZu {kerk¼2½ vko/kZu {kerk

¼3½ uyh dh yackb¼3½ uyh dh yackb¼3½ uyh dh yackb¼3½ uyh dh yackbZZZZ

Explain Terrestrail Telescope on follwing points.

(1) Labelled diagrm of image forming.

(2) Magnifying power

(3) Length of tube
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